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1. In the study of consumer behaviour, we

study decision making by a consumerf with

respect to :

A. Spending of income

B. Adjusting purchases due to change in

price

C. Both (a) and (b)

D. Neither (a) nor (b)

Answer: C

Vi T S l i

https://dl.doubtnut.com/l/_xfTz1bGv8TnN


View Text Solution

2. A rational consumer is called 'rational'

because he/she aims at :

A. Maximizing purchases

B. Minimizing expenditure

C. Maximizing utility

D. Minimizing wastage

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_xfTz1bGv8TnN
https://dl.doubtnut.com/l/_paaGwlYcOpCA


3. On consuming some units of a good,the

utiility obtained is 10 utils. It is a example of :

A. Ordinal utility

B. Cardinal utility

C. Marginal utility

D. Minimizing wastage

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_paaGwlYcOpCA
https://dl.doubtnut.com/l/_P1DpSA3U6vca


4. There is a 'Law' in theory of consumer

behaviour which states that as a consumer

consumes more and more units of a good, the

utility from each new unit consumed :

A. Increases

B. Remains constant

C. Decreases

D. Increases initially remains constant and

ultimately decreases.

https://dl.doubtnut.com/l/_2j7fAPKbhinr


Answer: C

View Text Solution

5. Marginal utility refers to utility :

A. From the last unit consumed

B. From one more unit consumed

C. From one less unit consumed

D. All the above

Answer: D

https://dl.doubtnut.com/l/_2j7fAPKbhinr
https://dl.doubtnut.com/l/_0QrZ20L5y7ZO


View Text Solution

6. Marginal utility of a good means utility on

consuming :

A. More units

B. Less units

C. One more unit

D. All the above

Answer: C

https://dl.doubtnut.com/l/_0QrZ20L5y7ZO
https://dl.doubtnut.com/l/_pec9nSUwmzGv


View Text Solution

7. When a consumer increases consumption of

a good from 2 units to 4 units, total utility

rises from 9 units to 14 utils. Marginal utility is

:

A. 5 utils

B.  utils

C. 3 utils

D. Can't calculate

2.5

https://dl.doubtnut.com/l/_pec9nSUwmzGv
https://dl.doubtnut.com/l/_nK9YnUUjaE1q


Answer: B

View Text Solution

8. According to th Law of Diminishing Marginal

Utility, as the consumer reduces consumption

of a goods marginal utility of the remaining

quantity of that good :

A. Falls

B. Rises

C. Remains unchanged

https://dl.doubtnut.com/l/_nK9YnUUjaE1q
https://dl.doubtnut.com/l/_gFvpwfxg1oRu


D. Cannot calculate

Answer: B

View Text Solution

9. A consumer consumes only two goods X and

Y . On planning to spend the whole of income

on these two goods he finds  utils

and  utils,  are rupees 4

and 6 per unit respectively. In this situation

the consumer will :

MUx = 6

MUy = 4 Px and Py

https://dl.doubtnut.com/l/_gFvpwfxg1oRu
https://dl.doubtnut.com/l/_Le5eY7VdKQtu


A. Stick to his plan

B. Buy less of X

C. Buy more of Y

D. Buy more of X and less of Y

Answer: D

View Text Solution

10. A consumer consumes only two goods X

and Y and plans to spend entire income on

these. The prices of X and Y are respecively

https://dl.doubtnut.com/l/_Le5eY7VdKQtu
https://dl.doubtnut.com/l/_WXVJjaXD2jnZ


rupeees 7 and rupees 8 per unit respectively.

In the plan marginal utilities of X and Y turn

out to be 8 units and 7 utils respectively.

Suppose marginal utility in case of each good

remains unchanged as more or less is

consumed. In such a case consumer will :

A. But only X

B. Buy only Y

C. Buy both X and Y in equal quantities

D. Stick to his plan

Answer: A

https://dl.doubtnut.com/l/_WXVJjaXD2jnZ


View Text Solution

11. Given total utility schedule of a good, how

many units of tha good the consumer will buy

if the price per unit is rupees 4 . 

A. 1 unit

B. 2 units

C. 3 units

https://dl.doubtnut.com/l/_WXVJjaXD2jnZ
https://dl.doubtnut.com/l/_enArY3XhUBYu


D. 0 unit

Answer: D

View Text Solution

12. A consumer consumes only two goods X

and Y with preices rupees 4 and rupees 5 per

unit respectively. On making a plan of

spending his whole of income he finds

 utils and  utils. The

consumer:

MUx = 12 MUy = 15

https://dl.doubtnut.com/l/_enArY3XhUBYu
https://dl.doubtnut.com/l/_cmKM8wnaajNc


A. Is in equilibrium.

B. Is not in equilibrium nor can reach

equilibrium.

C. Can reach equilibrium by buying less of

X and more of Y.

D. Can reach equilibrium by buying more of

X and less of Y.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_cmKM8wnaajNc
https://dl.doubtnut.com/l/_KCjhPKYnNZpD


13. A consumer consumes only two goods X

and Y and is in equilibrium with 

, then:

A. 

B. 

C. 

D. Any of the above

Answer: A

View Text Solution

MUx = MUy

Px = Py

Px < Py

Px > Py

https://dl.doubtnut.com/l/_KCjhPKYnNZpD


short answer question -I

1. Explain the meaning of equilibrium.

View Text Solution

2. Explain the concept of marginal utility by

giving a numerical example.

View Text Solution

https://dl.doubtnut.com/l/_mR6jHeSYiKdd
https://dl.doubtnut.com/l/_GHYOf4MJ5GHF


Short answer question -II

3. State and explain the Law of Diminishing

Marginal Utility.

View Text Solution

1. Expalain the two alternative meanings of

equilibrium.

View Text Solution

https://dl.doubtnut.com/l/_Uhyfl3d1icFJ
https://dl.doubtnut.com/l/_7eU5UJTWpjTZ
https://dl.doubtnut.com/l/_ZNCMwHtYcmpU


2. State and explain the Law of Diminishing

Marginal Utility with the help of a numerical

example.

View Text Solution

3. Explain why the price which a consumer is

willing to pay for a good equals the marginal

utility of that good, when purchasing a good.

View Text Solution

https://dl.doubtnut.com/l/_ZNCMwHtYcmpU
https://dl.doubtnut.com/l/_Dbw0WSTZj3tG
https://dl.doubtnut.com/l/_coK5pTqKFaJL


Some important questions

4. Explain the conditions of equilibrium

assuming that consumer consumes only two

goods.

View Text Solution

1. Define marginal utility. State the Law of

Diminishing Marginal Utility.

View Text Solution

https://dl.doubtnut.com/l/_coK5pTqKFaJL
https://dl.doubtnut.com/l/_4YvtF8SUngH4


2. Define Utility. Describe the law of

diminishing marginal utility.

View Text Solution

3. A consumer only two goods. Explain his

equilibrium with the help of utility analysis.

View Text Solution

https://dl.doubtnut.com/l/_oTHfzd6PZmVl
https://dl.doubtnut.com/l/_7BRLyOPkJYiK


4. Given the market price of a good , how does

a consumer decide as to how many units of

that good to but? Explains

View Text Solution

5. A consumer consumes only two goods.

What are the conditions of consumer's

equilibrium in the utility approach? Explain

the changes that will take place if the

consumer is not in equilibrium.

https://dl.doubtnut.com/l/_LO80RghdpJe8
https://dl.doubtnut.com/l/_R2p53ELqRmzL


View Text Solution

6. A consumer consumes only two goods X and

Y and is in equilibrium. Price of X falls. Explain

the reaction of the consumer through the

Utility Analysis.

View Text Solution

7. A consumer consumes only two goods and

is in equilibrium. Show that price and demand

https://dl.doubtnut.com/l/_R2p53ELqRmzL
https://dl.doubtnut.com/l/_YK5Wr5jFqiIa
https://dl.doubtnut.com/l/_e4zrUqI90WB6


Value based questions

for a good are inversely related. Explain using

Utility Analysis.

View Text Solution

1. A consumer consumes only two goods and is

in eqilibrium . Persistent campaign about

consumer's awareness enables the consumer

to but one of the goods at a lower price.

Explain its effect on consumer's equilibrium.

https://dl.doubtnut.com/l/_e4zrUqI90WB6
https://dl.doubtnut.com/l/_yhxPR2C5f93Q


View Text Solution

2. Conumer makes purchase of any good by

comparing price and marginal utility. When he

becomes aware of his rights as a consumer,he

is able to get the same proudct at the same

price but with better 'after sale service'.

Explain its effect on the purchase of good by

the consumer.

View Text Solution

https://dl.doubtnut.com/l/_yhxPR2C5f93Q
https://dl.doubtnut.com/l/_NsFxcBGa5Hgz

